H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

SM4E10A1R N N .
Bl ] M= EG JERES H BERF R TBE <t
B °C mm 1651 m.”'s h % hPa
1 284 0.0 *okk — 0.00 78 1011.7
2 28.3 0.0 kK — 0.00 78 10113
3 28.2 0.0 *okk — 0.00 77 10111
4 281 0.0 k% — 0.00 78 10111
5 281 0.0 *okk — 0.00 78 10112
6 282 0.0 Fokk — 0.00 77 10118
7 28.6 0.0 kK — 0.53 73 10122
8 28.6 0.0 *okk — 1.00 76 10125
9 28.8 0.0 sokok — 1.00 73 1012.8
10 28.9 0.0 *okk — 1.00 75 1012.8
11 288 0.0 Fokk — 1.00 76 1012.4
12 28.8 0.0 kK — 1.00 77 1011.6
13 28.7 0.0 *okk — 1.00 75 101122
14 28.9 0.0 *okok — 1.00 76 1010.7
15 29.0 0.0 *okk — 1.00 76 1010.6
16 28.9 0.0 KoKk — 1.00 73 1010.7
17 28.8 0.0 *okk — 0.92 76 1011.0
18 28.8 0.0 Fokk — 0.10 75 10112
19 28.6 0.0 kK — 0.00 79 10117 |
20 28.7 0.0 *okk — 0.00 77 10121
21 286 0.0 kK — 0.00 80 10122
) 28.6 0.0 *okk — 0.00 77 10118
23 285 0.0 Fokk — 0.00 81 1011.4
24 285 0.0 kK — 0.00 81 10111
HE&X 29.0 0.0 0.0 81 1012.8
—B&/D 28.1 0.0 0.0 73 1010.6
=EZS] 28.6 — 77 10116
=X 0.0 10.55
BT —4 45 (S ok
£EFHH °C £EFEHH °C
2=4<:2 [ HI365 36.1 2ESE [ H20217 17.7
$EFAH hPa £EFEHH hPa
==<F [ H5322 10245 SESE [H1411.24 936.7
EEEH =] mm/day Eﬁﬁﬁ =] m.”'s
EXHF= H10.11.26 2125 2xEE [ H1792 552

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

S4E10A2A N N .
Bl ] M= EG JERES H BERF R TBE <t
B °C mm 1651 m.”'s h % hPa
1 285 0.0 *okk — 0.00 80 1010.6
2 284 0.0 kK — 0.00 79 1010.1
3 27.8 0.0 *okk — 0.00 80 1010.2
4 285 0.0 kK — 0.00 77 1010.0
5 281 0.0 *okk — 0.00 82 1010.3
6 284 0.0 Fokk — 0.00 79 1010.7
7 28.8 0.0 kK — 0.78 79 10111
8 28.8 0.0 *okk — 0.95 77 10115
9 29.1 0.0 sokok — 0.97 75 1011.7
10 29.3 0.0 *okk — 1.00 72 10118
11 293 0.0 Fokk — 1.00 72 1011.4
12 29.2 0.0 kK — 1.00 72 1010.6
13 295 0.0 *okk — 1.00 73 1010.0
14 29.2 0.0 kK — 1.00 75 10095 |
15 291 0.0 *okk — 0.97 76 10095
16 288 0.0 kK — 1.00 79 1009.8
17 284 0.0 *okk — 0.80 84 1010.3
18 285 0.0 Fokk — 0.00 82 10105
19 28.7 0.0 kK — 0.00 80 1010.9
20 28.7 0.0 *okk — 0.00 79 101122
21 286 0.0 kK — 0.00 81 10112
) 285 0.0 *okk — 0.00 80 1011.3
23 285 0.0 Fokk — 0.00 78 10112
24 285 0.0 kK — 0.00 75 1011.0
HE&X 295 0.0 0.0 84 1011.8
—B&/D 27.8 0.0 0.0 72 1009.5 |
HY¥1 28.7 —_— 78 1010.7
=X 0.0 10.47
BT —4 5 5 {5 Hoxk
£EFHH °C £EFEHH °C
2=4<:2 [ HI365 36.1 2ESE [ H20217 17.7
$EFAH hPa £EFEHH hPa
==<F [ H5322 10245 SESE [H1411.24 936.7
EEEH =] mm/day Eﬁﬁﬁ =] m.”'s
EXHF= H10.11.26 2125 2xEE [ H1792 552

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

S4E10A3R N N .
Bl ] M= EG JERES H BERF R TBE <t
B °C mm 1651 m.”'s h % hPa
1 28.6 0.0 *okk — 0.00 72 1010.6
2 284 0.0 kK — 0.00 75 1010.4
3 28.3 0.0 *okk — 0.00 78 1010.2
4 28.4 0.0 *okk — 0.00 78 1010.1
5 28.2 0.0 *okk — 0.00 79 1010.2
6 285 0.0 Fokk — 0.00 78 10105
7 28.6 0.0 kK — 0.52 79 1011.2
8 28.7 0.0 *okk — 1.00 78 10115
9 28.9 0.0 sokok — 1.00 76 1011.6
10 28.8 0.0 *okk — 1.00 76 1011.7
11 28.9 0.0 Fokk — 1.00 74 10111
12 28.9 0.0 kK — 1.00 74 1010.6
13 28.9 0.0 *okk — 1.00 72 1010.2
14 29.1 0.0 *okok — 1.00 74 1009.7
15 28.6 0.0 *okk — 0.87 77 10095
16 285 0.0 kK — 1.00 78 1009.7 |
17 28.3 0.0 *okk — 0.77 78 1009.9
18 283 0.0 Fokk — 0.37 81 1010.4
19 28.3 0.0 k% — 0.00 81 1011.0
20 28.2 0.0 *okk — 0.00 84 1011.4
21 28.3 0.0 kK — 0.00 81 10115 |
) 285 0.0 *okk — 0.00 79 10116
23 285 0.0 Fokk — 0.00 78 10113
24 285 0.0 kK — 0.00 76 10111
HE&X 29.1 0.0 0.0 84 1011.7
Bz 28.2 0.0 0.0 72 1009.5 |
HY¥1 28.6 —_— 77 1010.7
8t 0.0 10.53
BT —4 5 5 {5 Hoxk
£EFHH °C £EFEHH °C
2=4<:2 [ HI365 36.1 2ESE [ H20217 17.7
$EFAH hPa £EFEHH hPa
==<F [ H5322 10245 SESE [H1411.24 936.7
EEEH =] mm/day Eﬁﬁﬁ =] m.”'s
EXHF= H10.11.26 2125 2xEE [ H1792 552

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

S4FE10A4R N N .
Bl ] M= EG JERES H BERF R TBE <t
B °C mm 1651 m.”'s h % hPa
1 28.3 0.0 *okk — 0.00 78 1010.6
2 283 0.0 kK — 0.00 80 1010.3
3 28.3 0.0 *okk — 0.00 79 1010.0
4 282 0.0 k% — 0.00 81 1010.2
5 28.2 0.0 *okk — 0.00 77 10105
6 283 0.0 Fokk — 0.00 79 10111
7 28.1 0.0 kK — 0.18 80 10115 |
8 284 0.0 *okk — 0.00 77 10122
9 28.2 0.0 sokok — 0.93 77 1012.4
10 284 0.0 *okk — 1.00 80 10121
11 29.0 0.0 Fokk — 1.00 68 1011.7
12 28.8 0.0 kK — 1.00 75 1010.9
13 28.7 0.0 *okk — 0.98 76 1010.2
14 29.1 0.0 *okok — 1.00 72 1009.7
15 29.2 0.0 *okk — 1.00 71 1009.6
16 28.9 0.0 kK — 1.00 73 1009.7 |
17 28.7 0.0 *okk — 1.00 76 1010.2
18 287 0.0 Fokk — 0.37 77 1010.4
19 28.6 0.0 kK — 0.00 76 1010.9
20 28.6 0.0 *okk — 0.00 79 1011.4
21 28.5 0.0 kK — 0.00 79 10115 |
) 28.2 0.0 *okk — 0.00 82 10115
23 284 0.0 Fokk — 0.00 77 1011.4
24 28.3 0.0 kK — 0.00 78 1011.0
HE&X 29.2 0.0 0.0 82 1012.4
BRI/ 28.1 0.0 0.0 68 1009.6
HY¥1 285 —_— 77 1010.9
=X 0.0 9.46
BT —4 45 (S ok
£EFHH °C £EFEHH °C
2=4<:2 [ HI365 36.1 2ESE [ H20217 17.7
$EFAH hPa £EFEHH hPa
==<F [ H5322 10245 SESE [H1411.24 936.7
EEEH =] mm/day Eﬁﬁﬁ =] m.”'s
EXHF= H10.11.26 2125 2xEE [ H1792 552

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

SH4E10A5R0 N N .
Bl ] M= EG JERES H BERF R TBE <t
B °C mm 1651 m.”'s h % hPa
1 28.3 0.0 *okk — 0.00 78 1010.4
2 27.2 0.0 *okok — 0.00 86 1010.1
3 27.2 10 *okk — 0.00 85 1009.7
4 274 20 *okok — 0.00 83 1009.9
5 27.7 0.0 *okk — 0.00 81 1009.9
6 28.0 0.0 Fokk — 0.00 81 1010.1
7 28.6 0.0 kK — 0.68 79 1010.9
8 28.6 0.0 *okk — 0.97 76 10115
9 28.5 0.0 kK — 0.85 79 1011.7
10 28.7 0.0 *okk — 1.00 76 1011.7
11 287 05 Fokk — 0.83 75 10112
12 284 0.0 kK — 0.97 78 1010.7 |
13 28.9 0.0 *okk — 0.98 74 1010.2
14 29.0 0.0 *okok — 0.92 72 1010.0
15 291 0.0 *okk — 0.87 75 1010.0
16 28.8 0.0 KoKk — 1.00 77 1010.1
17 28.6 0.0 *okk — 0.92 77 1010.4
18 28.6 0.0 Fokk — 0.27 74 10106
19 28.6 0.0 kK — 0.00 78 10112
20 28.6 0.0 *okk — 0.00 76 10116
21 285 0.0 *okk — 0.00 78 1011.8
) 285 0.0 *okk — 0.00 76 10119
23 285 0.0 Fokk — 0.00 77 1011.4
24 284 0.0 kK — 0.00 76 10111
HE&X 29.1 20 0.0 86 1011.9
A&/ 27.2 0.0 0.0 72 1009.7
BEESS 284 — 78 1010.8
8t 35 10.26
BT —4 45 (S ok
£EFHH °C £EFEHH °C
2=4<:2 [ HI365 36.1 2ESE [ H20217 17.7
$EFAH hPa £EFEHH hPa
==<F [ H5322 10245 SESE [H1411.24 936.7
EEEH =] mm/day Eﬁﬁﬁ =] m.”'s
EXHF= H10.11.26 2125 2xEE [ H1792 552

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

£M3E10H68 ~ _
Bl ] M= EG JERES H BERF R TBE <t
B °C mm 1651 m.”'s h % hPa
1 28.3 0.0 *okk — 0.00 76 1010.7
2 28.4 0.0 *okok — 0.00 76 1010.3
3 28.3 0.0 *okk — 0.00 76 1010.3
4 283 0.0 kK — 0.00 76 1010.2
5 28.3 0.0 *okk — 0.00 76 1010.2
6 284 0.0 Fokk — 0.00 77 10105
7 285 0.0 kK — 0.00 79 10111
8 28.6 0.0 *okk — 0.00 77 10118
9 28.8 0.0 sokok — 0.00 72 1012.1
10 28.7 0.0 *okk — 0.47 76 1011.9
11 287 0.0 Fokk — 1.00 79 10115
12 28.7 0.0 kK — 0.97 78 1011.0
13 28.8 0.0 *okk — 0.93 76 10105
14 28.8 0.0 *okok — 0.87 77 1009.9
15 28.6 0.0 *okk — 0.13 76 1009.4
16 286 0.0 kK — 0.00 78 1009.2
17 28.7 0.0 *okk — 0.00 78 1009.5
18 285 0.0 Fokk — 0.00 79 1009.8
19 28.7 0.0 kK — 0.00 79 1010.0
20 28.6 0.0 *okk — 0.00 79 1010.7
21 285 0.0 kK — 0.00 78 1010.9
) 28.6 0.0 *okk — 0.00 79 1010.7
23 286 0.0 Fokk — 0.00 77 1010.4
24 285 0.0 kK — 0.00 80 1010.3
HE&X 2838 0.0 0.0 80 1012.1
Bz 283 0.0 0.0 72 1009.2
HY¥1 28.6 —_— 77 1010.5
=X 0.0 437
BT —4 45 (S ok
£EFHH °C £EFEHH °C
2=4<:2 [ HI365 36.1 2ESE [ H20217 17.7
$EFAH hPa £EFEHH hPa
==<F [ H5322 10245 SESE [H1411.24 936.7
EEEH =] mm/day Eﬁﬁﬁ =] m.”'s
EXHF= H10.11.26 2125 2xEE [ H1792 552

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .




H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

SHM4E10A7R N N .
Bl ] M= EG JERES H BERF R TBE <t
B °C mm 1651 m.”'s h % hPa
1 284 0.0 *okk — 0.00 79 1010.0
2 28.4 0.0 *okok — 0.00 77 1009.6
3 284 0.0 *okk — 0.00 77 1009.2
4 28.2 0.0 *okk — 0.00 79 1009.0
5 28.3 0.0 *okk — 0.00 78 1008.7
6 284 0.0 Fokk — 0.00 75 1008.9
7 28.6 0.0 kK — 0.48 76 1009.7 |
8 285 0.0 *okk — 0.98 77 1009.8
9 28.7 0.0 kK — 0.38 77 1010.7
10 28.8 0.0 *okk — 0.87 75 1010.4
11 26.5 0.0 Fokk — 0.95 83 10103
12 255 0.0 kK — 0.48 91 1009.8
13 25.6 0.0 *okk — 0.00 85 1008.8
14 25.6 0.0 *okok — 0.00 87 1007.7
15 26.2 0.0 *okk — 0.00 80 1007.8
16 265 0.0 kK — 0.00 83 1007.7
17 26.7 0.0 *okk — 0.00 82 1007.9
18 272 0.0 Fokk — 0.00 75 1007.9
19 27.9 0.0 kK — 0.00 70 10085 |
20 28.0 0.0 *okk — 0.00 77 1008.9
21 280 0.0 kK — 0.00 80 1009.0
) 28.2 0.0 *okk — 0.00 84 1008.9
23 284 0.0 Fokk — 0.00 83 1008.8
24 285 0.0 kK — 0.00 81 1008.7 |
HE&X 2838 0.0 0.0 91 1010.7
Bz 255 0.0 0.0 70 1007.7
HEH 27.6 - 80 1009.0
=X 0.0 4.14
BT —4 45 (S ok
£EFHH °C £EFEHH °C
2=4<:2 [ HI365 36.1 2ESE [ H20217 17.7
$EFAH hPa £EFEHH hPa
==<F [ H5322 10245 SESE [H1411.24 936.7
EEEH =] mm/day Eﬁﬁﬁ =] m.”'s
EXHF= H10.11.26 2125 2xEE [ H1792 552

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

SH4E10A8H N N .
Bl ] M= EG JERES H BERF R TBE <t
B °C mm 1651 m.”'s h % hPa
1 285 0.0 *okk — 0.00 79 1008.2
2 285 0.0 kK — 0.00 81 1007.9
3 284 0.0 kK — 0.00 82 1007.3
4 27.9 0.0 *hk — 0.00 87 1007.2
5 285 15 kK — 0.00 82 1007.2
6 282 0.0 kK — 0.00 81 1008.3
7 285 0.0 okk — 0.00 84 10085 |
8 25.9 0.0 kK — 0.00 82 1009.4
9 27.9 10 Sokk — 0.00 87 1009.3
10 26.4 10 kK — 0.00 85 1009.4
11 26.1 05 Tokk — 0.00 81 1009.3
12 26.5 05 okk — 0.00 85 10085 |
13 25.7 0.0 *okk — 0.00 88 1008.0
14 25.9 2.0 kK — 0.00 85 1008.0
15 251 3.0 *okk — 0.00 93 1007.8
16 26.0 15 kK — 0.00 89 1008.4
17 26.3 05 kK — 0.00 86 1007.9
18 26.2 0.0 kK — 0.00 85 1007.6
19 26.3 05 okk — 0.00 85 1007.8
20 26.9 0.0 kK — 0.00 84 10075
21 275 0.0 kK — 0.00 82 1007.3
) 27.6 0.0 kK — 0.00 85 1007.3
23 27.7 0.0 Tokk — 0.00 85 1007.6
24 28.0 0.0 okk — 0.00 84 1007.7
HE&X 285 3.0 0.0 93 1009.4
—B&/D 25.1 0.0 0.0 79 1007.2
HEH 271 — 84 10081
At 12.0 0.00
BT —4 45 (S ok
£EFHH °C £EFEHH °C
2=4<:2 [ HI365 36.1 2ESE [ H20217 17.7
$EFAH hPa £EFEHH hPa
==<F [ H5322 10245 SESE [H1411.24 936.7
EEEH =] mm/day Eﬁﬁﬁ =] m.”'s
EXHF= H10.11.26 2125 2xEE [ H1792 552

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

SH4FE10A9R N N .
Bl ] M= EG JERES H BERF R TBE <t
B °C mm 1651 m.”'s h % hPa
1 28.3 0.0 *okk — 0.00 80 10075
2 284 0.0 kK — 0.00 82 1007.4
3 285 0.0 *okk — 0.00 81 1007.4
4 286 0.0 kK — 0.00 80 10075
5 28.7 0.0 *okk — 0.00 79 1007.9
6 28.6 0.0 Fokk — 0.00 80 1008.3
7 28.7 0.0 kK — 0.23 80 1008.8
8 28.3 0.0 *okk — 0.22 85 1009.4
9 26.1 0.0 kK — 0.10 86 1010.1
10 26.3 10 *okk — 0.77 83 1009.7
11 28.9 0.0 Fokk — 1.00 75 10091
12 28.6 0.0 kK — 1.00 77 10085 |
13 28.7 0.0 *okk — 1.00 77 1008.3
14 28.7 0.0 *okok — 0.98 76 1007.9
15 28.7 0.0 *okk — 0.83 79 10075
16 28.8 0.0 kK — 1.00 75 1007.8
17 285 0.0 *okk — 0.95 79 1008.2
18 28.0 0.0 Fokk — 0.00 76 1008.3
19 28.7 0.0 kK — 0.00 78 1008.8
20 28.7 0.0 *okk — 0.00 78 1009.4
21 28.7 0.0 *okk — 0.00 77 1009.4
) 28.7 0.0 *okk — 0.00 80 1009.2
23 285 0.0 Fokk — 0.00 83 1009.1
24 28.4 0.0 kK — 0.00 82 10085 |
HE&X 28.9 1.0 0.0 86 1010.1
—B&/D 26.1 0.0 0.0 75 1007.4
HEH 284 — 79 10085
At 10 8.08
BT —4 45 (S ok
£EFHH °C £EFEHH °C
2=4<:2 [ HI365 36.1 2ESE [ H20217 17.7
$EFAH hPa £EFEHH hPa
==<F [ H5322 10245 SESE [H1411.24 936.7
EEEH =] mm/day Eﬁﬁﬁ =] m.”'s
EXHF= H10.11.26 2125 2xEE [ H1792 552

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

£F44£108108 ) _
Bl ] M= EG JERES H BERF R TBE <t
B °C mm 1651 m.”'s h % hPa
1 284 0.0 *okk — 0.00 81 10081
2 283 0.0 kK — 0.00 81 1007.9
3 285 0.0 *okk — 0.00 79 1007.6
4 27.2 0.0 *okk — 0.00 81 1007.3
5 28.6 0.0 *okk — 0.00 74 10075
6 282 0.0 Fokk — 0.00 78 1008.0
7 28.6 0.0 kK — 0.48 77 1008.3
8 28.7 0.0 *okk — 0.98 75 1008.8
9 28.6 0.0 kK — 0.93 77 1008.7
10 28.7 0.0 *okk — 0.82 78 10085
11 287 0.0 Fokk — 1.00 76 1008.3
12 28.8 0.0 kK — 1.00 78 1007.7
13 28.8 0.0 *okk — 0.97 76 1007.0
14 28.7 0.0 *okok — 1.00 76 1006.7 |
15 28.8 0.0 *okk — 1.00 77 1006.3
16 28.7 0.0 *okk — 1.00 76 1006.6
17 28.6 0.0 *okk — 1.00 76 1007.0
18 284 0.0 Fokk — 0.08 80 1007.4
19 284 0.0 kK — 0.00 79 1007.7
20 285 0.0 *okk — 0.00 77 10081
21 285 0.0 kK — 0.00 76 1008.3
) 28.3 0.0 *okk — 0.00 75 1008.2
23 284 0.0 Fokk — 0.00 73 1007.9
24 28.1 0.0 kK — 0.00 75 10071
HE&X 2838 0.0 0.0 81 1008.8
—B&/D 27.2 0.0 0.0 73 1006.3
HY¥1 285 —-— 77 1007.7
=X 0.0 10.26
BT —4 45 (S ok
£EFHH °C £EFEHH °C
2=4<:2 [ HI365 36.1 2ESE [ H20217 17.7
$EFAH hPa £EFEHH hPa
==<F [ H5322 10245 SESE [H1411.24 936.7
EEEH =] mm/day Eﬁﬁﬁ =] m.”'s
EXHF= H10.11.26 2125 2xEE [ H1792 552

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

SH44108118 B B - 3
Bl ] M= EG JERES H BERF R TBE <t
B °C mm 1651 m.”'s h % hPa
1 28.0 0.0 *okk — 0.00 76 1007.2
2 28.0 0.0 kK — 0.00 77 1007.0
3 27.9 0.0 *okk — 0.00 76 1006.7
4 278 0.0 *okk — 0.00 79 1006.2
5 27.9 0.0 *okk — 0.00 76 1006.4
6 27.9 0.0 Fokk — 0.00 73 1006.8
7 28.3 0.0 kK — 0.67 69 1007.0
8 284 0.0 *okk — 1.00 73 1007.3
9 28.4 0.0 sokok — 1.00 76 1007.1
10 284 0.0 *okk — 1.00 74 1007.0
11 28.6 0.0 Fokk — 1.00 72 10065
12 28.6 0.0 kK — 1.00 74 1005.7 |
13 26.3 0.0 *okk — 0.53 89 1005.3
14 26.1 05 *okok — 0.15 89 10047 |
15 26.5 0.0 *okk — 017 87 10045
16 28.3 0.0 kK — 0.67 79 10045 |
17 28.3 0.0 *okk — 0.00 79 1005.1
18 284 0.0 Fokk — 0.00 78 10051
19 28.2 0.0 kK — 0.00 82 1005.7 |
20 281 0.0 *okk — 0.00 82 1006.5
21 28.4 05 *okk — 0.00 77 1006.6
) 284 0.0 *okk — 0.00 78 1006.5
23 28.0 0.0 Fokk — 0.00 79 1006.2
24 28.0 0.0 kK — 0.00 81 1006.4
HE&X 28.6 0.5 0.0 89 1007.3
Bz 26.1 0.0 0.0 69 1004.5 |
HEH 28.0 — 78 1006.2
=X 1.0 7.19
BT —4 45 (S ok
£EFHH °C £EFEHH °C
2=4<:2 [ HI365 36.1 2ESE [ H20217 17.7
$EFAH hPa £EFEHH hPa
==<F [ H5322 10245 SESE [H1411.24 936.7
EEEH =] mm/day Eﬁﬁﬁ =] m.”'s
EXHF= H10.11.26 2125 2xEE [ H1792 552

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

SF4E108128 ) _
Bl ] M= EG JERES H BERF R TBE <t
B °C mm 1651 m.”'s h % hPa
1 28.2 0.0 *okk — 0.00 76 1005.6
2 22.9 6.0 kK — 0.00 90 1005.6
3 25.8 6.5 *okk — 0.00 91 1004.2
4 26.2 0.0 kK — 0.00 81 1004.2
5 27.0 0.0 *okk — 0.00 83 1004.2
6 276 0.0 Fokk — 0.00 86 1004.6
7 27.6 0.0 kK — 0.00 81 1005.0
8 28.2 0.0 *okk — 0.00 83 10045
9 28.0 0.0 kK — 0.27 81 1005.1
10 28.2 0.0 *okk — 0.68 84 1005.0
11 275 0.0 Fokk — 0.87 83 10042
12 27.6 0.0 kK — 1.00 82 1003.0
13 27.7 0.0 *okk — 0.92 80 10025
14 27.0 0.0 *okok — 0.55 82 10025 |
15 27.8 0.0 *okk — 0.00 81 10025
16 27.9 0.0 KoKk — 0.00 80 1002.4
17 26.3 25 *okk — 0.00 90 1002.6
18 274 0.0 Fokk — 0.00 82 1002.4
19 275 0.0 kK — 0.00 81 10031
20 27.7 0.0 *okk — 0.00 81 10031
21 25.9 25 kK — 0.00 89 10035 |
) 26.7 05 *okk — 0.00 84 1003.0
23 26.8 0.0 Fokk — 0.00 84 1002.7
24 271 0.0 kK — 0.00 84 1002.2
HE&X 28.2 6.5 0.0 91 1005.6
BEEDD 229 0.0 0.0 76 1002.2
=EZS] 271 — 83 1003.7
=X 18.0 429
BT —4 45 (S ok
£EFHH °C £EFEHH °C
2=4<:2 [ HI365 36.1 2ESE [ H20217 17.7
$EFAH hPa £EFEHH hPa
==<F [ H5322 10245 SESE [H1411.24 936.7
EEEH =] mm/day Eﬁﬁﬁ =] m.”'s
EXHF= H10.11.26 2125 2xEE [ H1792 552

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

£F04£10A138 ) _
Bl ] M= EG JERES H BERF R TBE <t
B °C mm 1651 m.”'s h % hPa
1 255 3.0 *okk — 0.00 89 1001.7
2 255 10 kK — 0.00 92 1001.2
3 251 0.0 *okk — 0.00 92 1000.9
4 25.3 0.0 kK — 0.00 95 10011
5 25.7 0.0 *okk — 0.00 93 1000.9
6 255 0.0 Fokk — 0.00 94 1001.0
7 26.1 0.0 kK — 0.00 92 1001.6
8 26.8 0.0 *okk — 0.00 88 1001.7
9 27.2 0.0 kK — 0.77 83 1001.9
10 27.9 0.0 *okk — 1.00 77 1001.9
11 28.6 0.0 Fokk — 1.00 76 10015
12 29.1 0.0 kK — 1.00 74 1000.6
13 28.6 0.0 *okk — 1.00 75 999.9
14 28.6 0.0 kK — 1.00 76 999.7
15 285 0.0 *okk — 0.58 77 999.8
16 280 0.0 kK — 0.07 80 1000.2
17 281 0.0 *okk — 0.00 81 1000.4
18 282 0.0 Fokk — 0.00 81 1000.7
19 28.3 0.0 kK — 0.00 79 1001.3
20 284 0.0 *okk — 0.00 78 1001.9
21 28.4 0.0 KoKk — 0.00 77 1002.4
) 271 05 *okk — 0.00 87 1002.4
23 26.8 0.0 Fokk — 0.00 85 1002.3
24 28.1 0.0 kK — 0.00 80 1002.3
HE&X 29.1 3.0 0.0 95 1002.4
Bz 25.1 0.0 0.0 74 999.7
=EZS] 27.3 — 83 10012
8t 45 6.42
BT —4 45 (S ok
£EFHH °C £EFEHH °C
2=4<:2 [ HI365 36.1 2ESE [ H20217 17.7
$EFAH hPa £EFEHH hPa
==<F [ H5322 10245 SESE [H1411.24 936.7
EEEH =] mm/day Eﬁﬁﬁ =] m.”'s
EXHF= H10.11.26 2125 2xEE [ H1792 552

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .




H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

HM4E10A148 N .
Bl ] M= EG JERES H BERF R TBE <t
B °C mm 1651 m.”'s h % hPa
1 284 0.0 *okk — 0.00 76 1002.0
2 27.9 0.0 sokok — 0.00 83 1001.9
3 281 0.0 *okk — 0.00 84 1001.6
4 282 0.0 kK — 0.00 80 1001.9
5 28.3 0.0 *okk — 0.00 81 1002.2
6 28.0 15 Fokk — 0.00 83 1002.7
7 28.0 0.0 kK — 0.15 81 1003.3
8 28.6 0.0 *okk — 0.98 80 1003.6
9 284 0.0 kK — 0.83 84 1003.9
10 284 0.0 *okk — 1.00 82 1003.7
11 285 0.0 Fokk — 1.00 82 1002.9
12 27.7 0.0 kK — 1.00 79 10025 |
13 28.3 0.0 *okk — 1.00 78 1002.1
14 28.4 0.0 *okok — 1.00 78 1001.7
15 28.0 0.0 *okk — 0.85 83 10015
16 28.4 0.0 KoKk — 1.00 78 1001.7
17 28.3 0.0 *okk — 0.92 83 1002.1
18 283 0.0 Fokk — 0.00 81 1002.4
19 28.6 10 kK — 0.00 79 1003.3
20 27.0 15 *okk — 0.00 89 1003.6
21 26.2 25 KoKk — 0.00 92 1004.3
) 25.9 05 *okk — 0.00 92 1004.2
23 280 05 Fokk — 0.00 85 10041
24 25.6 05 kK — 0.00 93 1004.2
HE&X 28.6 25 0.0 93 1004.3
—B&/D 25.6 0.0 0.0 76 1001.5 |
=EZS] 27.9 — 83 1002.8
=X 8.0 9.73
BT —4 5 5 {5 Hoxk
£EFHH °C £EFEHH °C
2=4<:2 [ HI365 36.1 2ESE [ H20217 17.7
$EFAH hPa £EFEHH hPa
==<F [ H5322 10245 SESE [H1411.24 936.7
EEEH =] mm/day Eﬁﬁﬁ =] m.”'s
EXHF= H10.11.26 2125 2xEE [ H1792 552

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

£F4E10A158 ) _
Bl ] M= EG JERES H BERF R TBE <t
B °C mm 1651 m.”'s h % hPa
1 275 05 *okk — 0.00 86 1003.9
2 27.9 0.0 sokok — 0.00 86 1003.3
3 27.8 05 *okk — 0.00 85 1003.2
4 273 0.0 kK — 0.00 85 1003.3
5 27.7 10 *okk — 0.00 83 1003.7
6 28.0 0.0 Fokk — 0.00 83 1004.2
7 28.1 0.0 kK — 0.03 81 1004.9
8 28.2 0.0 *okk — 0.10 81 1005.4
9 28.6 2.0 kK — 0.73 78 1005.8
10 28.6 0.0 *okk — 0.93 80 1005.6
11 29.0 0.0 Fokk — 0.97 79 10055
12 29.1 0.0 kK — 0.97 74 1005.0
13 29.0 0.0 *okk — 1.00 78 1004.6
14 28.4 0.0 *okok — 0.82 75 10045 |
15 291 0.0 *okk — 0.85 78 1004.4
16 28.7 0.0 KoKk — 0.72 73 1004.8
17 28.7 0.0 *okk — 0.48 79 1005.3
18 27.7 0.0 Fokk — 0.00 83 1005.8
19 26.8 25 kK — 0.00 85 10065 |
20 25.2 0.0 *okk — 0.00 89 1007.4
21 26.4 10 *okk — 0.00 87 1007.7
) 27.7 05 *okk — 0.00 88 1007.8
23 26.1 0.0 Fokk — 0.00 93 1007.9
24 27.8 0.0 kK — 0.00 82 10075
HE&X 29.1 25 0.0 93 1007.9
BEEDD 252 0.0 0.0 73 1003.2
=EZS] 27.9 — 82 1005.3
=X 8.0 7.60
BT —4 45 (S ok
£EFHH °C £EFEHH °C
2=4<:2 [ HI365 36.1 2ESE [ H20217 17.7
$EFAH hPa £EFEHH hPa
==<F [ H5322 10245 SESE [H1411.24 936.7
EEEH =] mm/day Eﬁﬁﬁ =] m.”'s
EXHF= H10.11.26 2125 2xEE [ H1792 552

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

£F4E10A160 ) _
Bl ] M= EG JERES H BERF R TBE <t
B °C mm 1651 m.”'s h % hPa
1 26.5 7.0 *okk — 0.00 92 1007.4
2 26.2 05 *okok — 0.00 90 1007.1
3 275 0.0 *okk — 0.00 81 1006.8
4 28.3 0.0 *okk — 0.00 73 1006.7 |
5 28.3 0.0 *okk — 0.00 75 1007.0
6 283 0.0 Fokk — 0.00 77 10073
7 285 0.0 kK — 0.43 78 1007.7
8 28.6 0.0 *okk — 0.97 77 1008.6
9 28.9 0.0 kK — 0.97 74 1009.2
10 28.9 0.0 *okk — 1.00 75 1009.0
11 28.9 0.0 Fokk — 1.00 75 1008.6
12 29.0 0.0 kK — 1.00 73 1007.8
13 29.0 0.0 *okk — 1.00 73 1007.4
14 28.8 0.0 *okok — 0.97 77 1007.3
15 28.8 0.0 *okk — 1.00 72 1007.2
16 29.0 0.0 KoKk — 1.00 71 1007.5
17 28.7 0.0 *okk — 0.73 76 1007.6
18 287 0.0 Fokk — 0.00 75 1008.2
19 28.6 0.0 kK — 0.00 77 1008.7 |
20 28.6 0.0 *okk — 0.00 77 1009.3
21 288 0.0 kK — 0.00 73 1009.6
) 28.6 0.0 *okk — 0.00 76 1009.5
23 285 0.0 Fokk — 0.00 79 1009.2
24 27.9 0.0 kK — 0.00 83 1008.7 |
HE&X 29.0 7.0 0.0 92 1009.6
Bz 26.2 0.0 0.0 71 1006.7 |
HEH 284 — 77 10081
At 75 10.07
BT —4 45 (S ok
£EFHH °C £EFEHH °C
2=4<:2 [ HI365 36.1 2ESE [ H20217 17.7
$EFAH hPa £EFEHH hPa
==<F [ H5322 10245 SESE [H1411.24 936.7
EEEH =] mm/day Eﬁﬁﬁ =] m.”'s
EXHF= H10.11.26 2125 2xEE [ H1792 552

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

£F4E10A17H ) _
Bl ] M= EG JERES H BERF R TBE <t
B °C mm 1651 m.”'s h % hPa
1 27.7 0.0 *okk — 0.00 84 10081
2 28.3 0.0 sokok — 0.00 77 1007.7
3 284 0.0 *okk — 0.00 75 1007.3
4 28.4 0.0 *okk — 0.00 75 1007.2
5 284 0.0 *okk — 0.00 75 1007.2
6 283 0.0 Fokk — 0.00 77 10072
7 28.2 0.0 kK — 0.25 78 10075
8 28.7 0.0 *okk — 0.87 74 1008.0
9 288 0.0 kK — 1.00 75 1008.1
10 28.8 0.0 *okk — 1.00 73 1007.4
11 28.6 0.0 Fokk — 1.00 77 1006.8
12 285 0.0 kK — 0.92 82 1005.9
13 27.7 0.0 *okk — 1.00 86 1004.9
14 28.0 0.0 kK — 1.00 85 10045 |
15 27.8 0.0 *okk — 0.43 84 1004.7
16 27.9 05 *okk — 0.52 88 1004.8
17 281 0.0 *okk — 0.03 85 1005.1
18 26.5 15 Fokk — 0.00 94 1005.4
19 27.3 05 kK — 0.00 88 1006.1
20 26.8 10 *okk — 0.00 88 1006.3
21 27.2 0.0 KoKk — 0.00 90 1006.6
) 271 0.0 *okk — 0.00 91 1006.6
23 27.6 0.0 Fokk — 0.00 88 10065
24 28.0 0.0 kK — 0.00 85 1006.0
HE&X 2838 15 0.0 94 1008.1
—B&/D 26.5 0.0 0.0 73 1004.5 |
=EZS] 28.0 — 82 1006.5
8t 35 8.02
BT —4 45 (S ok
£EFHH °C £EFEHH °C
2=4<:2 [ HI365 36.1 2ESE [ H20217 17.7
$EFAH hPa £EFEHH hPa
==<F [ H5322 10245 SESE [H1411.24 936.7
EEEH =] mm/day Eﬁﬁﬁ =] m.”'s
EXHF= H10.11.26 2125 2xEE [ H1792 552

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

£F044£10A180 ) _
Bl ] M= EG JERES H BERF R TBE <t
B °C mm 1651 m.”'s h % hPa
1 27.7 0.0 *okk — 0.00 86 10055
2 27.0 0.0 kK — 0.00 89 1005.0
3 27.3 0.0 *okk — 0.00 86 1005.1
4 27.7 0.0 *okk — 0.00 83 1005.2
5 27.2 0.0 *okk — 0.00 89 10055
6 252 25 Fokk — 0.00 96 1006.0
7 26.0 6.5 kK — 0.00 95 1006.4
8 27.0 0.0 *okk — 0.00 88 1007.0
9 27.9 25 *okk — 0.02 84 1007.3
10 26.6 05 *okk — 0.17 94 1007.6
11 26.0 45 Fokk — 0.00 97 10071
12 26.3 25 kK — 0.00 92 1006.7 |
13 275 10 *okk — 0.00 85 1006.2
14 27.9 0.0 *okok — 0.00 81 1006.2
15 28.2 0.0 *okk — 0.12 80 1005.9
16 280 0.0 kK — 0.10 81 1006.8
17 284 0.0 *okk — 0.00 78 1007.2
18 284 0.0 Fokk — 0.00 78 10073
19 284 0.0 kK — 0.00 80 1007.8
20 284 0.0 *okk — 0.00 80 1008.3
21 285 0.0 kK — 0.00 81 1008.8
) 284 0.0 *okk — 0.00 78 1009.0
23 285 0.0 Fokk — 0.00 81 1008.7
24 271 0.0 kK — 0.00 86 1008.7 |
HE&X 285 6.5 0.0 97 1009.0
Bz 252 0.0 0.0 78 1005.0
HY¥1 275 —_— 85 1006.9
=X 20.0 0.41
BT —4 45 (S ok
£EFHH °C £EFEHH °C
2=4<:2 [ HI365 36.1 2ESE [ H20217 17.7
$EFAH hPa £EFEHH hPa
==<F [ H5322 10245 SESE [H1411.24 936.7
EEEH =] mm/day Eﬁﬁﬁ =] m.”'s
EXHF= H10.11.26 2125 2xEE [ H1792 552

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

£F4E10A198 ) _
Bl ] M= EG JERES H BERF R TBE <t
B °C mm 1651 m.”'s h % hPa
1 27.6 0.0 *okk — 0.00 84 1008.4
2 26.0 15 kK — 0.00 92 1008.1
3 27.0 05 *okk — 0.00 85 1008.0
4 27.7 0.0 *okk — 0.00 78 1008.2
5 27.9 0.0 *okk — 0.00 80 10085
6 28.0 0.0 Fokk — 0.00 82 1008.7
7 25.8 3.0 kK — 0.00 91 1009.8
8 27.0 05 *okk — 0.00 92 1010.2
9 28.3 0.0 kK — 0.95 76 1010.4
10 28.8 0.0 *okk — 0.97 74 10105
11 29.0 0.0 Fokk — 1.00 75 10103
12 290 0.0 kK — 1.00 78 1010.0
13 29.2 0.0 *okk — 0.97 76 10095
14 29.1 0.0 kK — 0.82 78 1009.0
15 294 0.0 *okk — 0.93 77 1009.2
16 27.2 0.0 *okk — 0.28 76 10095 |
17 26.9 0.0 *okk — 0.00 84 10105
18 251 0.0 Fokk — 0.00 92 10108
19 257 10 k% — 0.00 90 1011.6
20 26.8 10 *okk — 0.00 83 10121
21 26.8 0.0 kK — 0.00 87 10123
) 27.2 0.0 *okk — 0.00 84 10121
23 275 0.0 Fokk — 0.00 83 10124
24 274 0.0 kK — 0.00 84 1012.1
HE&X 29.4 3.0 0.0 92 1012.4
Bz 25.1 0.0 0.0 74 1008.0
HEH 275 — 82 1010.1
At 75 6.92
BT —4 5 5 {5 Hoxk
£EFHH °C £EFEHH °C
2=4<:2 [ HI365 36.1 2ESE [ H20217 17.7
$EFAH hPa £EFEHH hPa
==<F [ H5322 10245 SESE [H1411.24 936.7
EEEH =] mm/day Eﬁﬁﬁ =] m.”'s
EXHF= H10.11.26 2125 2xEE [ H1792 552

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

£F44£108208 ) _
Bl ] M= EG JERES H BERF R TBE <t
B °C mm 1651 m.”'s h % hPa
1 274 0.0 *okk — 0.00 83 10115
2 275 0.0 kK — 0.00 82 1010.9
3 275 0.0 *okk — 0.00 83 1010.6
4 276 0.0 *okok — 0.00 82 1010.4
5 27.8 0.0 *okk — 0.00 82 1010.6
6 278 0.0 Fokk — 0.00 82 10115
7 28.3 0.0 kK — 057 79 1012.3
8 28.7 0.0 *okk — 1.00 79 10132
9 28.7 0.0 kK — 0.85 80 10136
10 291 0.0 *okk — 0.92 76 10138
11 292 0.0 Fokk — 1.00 73 10133
12 29.2 0.0 kK — 0.97 73 1012.8
13 29.2 0.0 *okk — 1.00 75 10122
14 29.4 0.0 k% — 1.00 73 1011.8
15 26.7 0.0 *okk — 0.87 86 10118
16 284 0.0 kK — 1.00 78 1011.9
17 28.2 0.0 *okk — 0.12 79 10124
18 282 0.0 Fokk — 0.00 78 10130
19 28.0 0.0 kK — 0.00 79 10132
20 28.0 0.0 *okk — 0.00 82 10134
21 281 0.0 kK — 0.00 82 10136
) 28.0 0.0 *okk — 0.00 83 10138
23 281 0.0 Fokk — 0.00 83 10136
24 28.1 0.0 kK — 0.00 83 10135 |
HE&X 29.4 0.0 0.0 86 1013.8
—B&/D 26.7 0.0 0.0 73 1010.4
HEH 28.2 — 80 10124
At 0.0 9.30
BT —4 45 (S ok
£EFHH °C £EFEHH °C
2=4<:2 [ HI365 36.1 2ESE [ H20217 17.7
$EFAH hPa £EFEHH hPa
==<F [ H5322 10245 SESE [H1411.24 936.7
EEEH =] mm/day Eﬁﬁﬁ =] m.”'s
EXHF= H10.11.26 2125 2xEE [ H1792 552

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

£F4E10A218 ) _
Bl ] M= EG JERES H BERF R TBE <t
B °C mm 1651 m.”'s h % hPa
1 28.1 0.0 *okk — 0.00 81 1013.0
2 280 0.0 kK — 0.00 82 10126
3 28.0 0.0 *okk — 0.00 82 10125
4 28.1 0.0 *okk — 0.00 80 10125 |
5 28.0 0.0 *okk — 0.00 80 1012.7
6 28.0 0.0 Fokk — 0.00 80 10133
7 284 0.0 kK — 0.68 80 1014.0
8 285 0.0 *okk — 0.97 80 1014.7
9 28.8 0.0 kK — 1.00 79 1015.0
10 29.0 0.0 *okk — 1.00 78 1014.8
11 291 0.0 Fokk — 1.00 75 1014.4
12 28.8 0.0 kK — 1.00 78 10137 |
13 29.2 0.0 *okk — 1.00 77 10129
14 28.7 0.0 *okok — 1.00 78 10125
15 28.9 0.0 *okk — 1.00 77 10120
16 28.7 0.0 *okk — 0.88 79 1012.2
17 28.3 0.0 *okk — 0.10 82 10124
18 285 0.0 Fokk — 0.00 79 10128
19 284 0.0 kK — 0.00 83 1013.3
20 28.6 0.0 *okk — 0.00 78 10139
21 28.6 0.0 sokok — 0.00 77 1014.2
) 285 0.0 *okk — 0.00 79 10138
23 285 0.0 Fokk — 0.00 79 10135
24 285 0.0 kK — 0.00 77 1013.3
HE&X 29.2 0.0 0.0 83 1015.0
—B&/D 280 0.0 0.0 75 1012.0
=EZS] 285 — 79 10133
At 0.0 9.63
BT —4 5 5 {5 Hoxk
£EFHH °C £EFEHH °C
2=4<:2 [ HI365 36.1 2ESE [ H20217 17.7
$EFAH hPa £EFEHH hPa
==<F [ H5322 10245 SESE [H1411.24 936.7
EEEH =] mm/day Eﬁﬁﬁ =] m.”'s
EXHF= H10.11.26 2125 2xEE [ H1792 552

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

£F4E10A228 ) _
Bl ] M= EG JERES H BERF R TBE <t
B °C mm 1651 m.”'s h % hPa
1 28.3 0.0 *okk — 0.00 79 1013.0
2 28.1 05 *okok — 0.00 79 1012.4
3 28.0 0.0 *okk — 0.00 81 10120
4 281 0.0 k% — 0.00 77 10118
5 28.0 0.0 *okk — 0.00 79 10120
6 28.0 0.0 Fokk — 0.00 81 10127
7 284 0.0 kK — 0.48 81 1013.0
8 28.3 0.0 *okk — 0.52 81 10131
9 284 0.0 kK — 0.95 80 10132
10 28.6 0.0 *okk — 0.98 81 1013.0
11 288 0.0 Fokk — 0.93 77 10126
12 28.6 0.0 kK — 1.00 78 10115 |
13 28.6 0.0 *okk — 1.00 80 1010.7
14 286 0.0 kK — 0.85 80 1010.1
15 28.7 0.0 *okk — 0.97 79 1010.0
16 28.6 0.0 KoKk — 1.00 78 1010.2
17 284 0.0 *okk — 0.78 80 1010.4
18 283 0.0 Fokk — 0.00 80 10108
19 28.3 0.0 kK — 0.00 81 10112
20 28.3 0.0 *okk — 0.00 81 1011.7
21 282 0.0 kK — 0.00 82 1012.0
) 28.3 0.0 *okk — 0.00 78 10118
23 282 0.0 Fokk — 0.00 80 10113
24 28.0 0.0 kK — 0.00 82 1010.7 |
HE&X 2838 0.5 0.0 82 1013.2
—B&/D 280 0.0 0.0 77 1010.0
=EZS] 28.3 — 80 1011.7
8t 05 9.46
BT —4 45 (S ok
£EFHH °C £EFEHH °C
2=4<:2 [ HI365 36.1 2ESE [ H20217 17.7
$EFAH hPa £EFEHH hPa
==<F [ H5322 10245 SESE [H1411.24 936.7
EEEH =] mm/day Eﬁﬁﬁ =] m.”'s
EXHF= H10.11.26 2125 2xEE [ H1792 552

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

£F4£10A238 ) _
Bl ] M= EG JERES H BERF R TLE <t
B °C mm 1651 m.”'s h % hPa
1 27.9 0.0 *okk — 0.00 81 1010.1
2 278 0.0 *okok — 0.00 80 1009.4
3 27.9 0.0 *okk — 0.00 79 1009.0
4 278 0.0 *okk — 0.00 79 1008.8
5 27.7 0.0 *okk — 0.00 79 1009.3
6 278 0.0 Fokk — 0.00 77 1009.9
7 28.2 0.0 kK — 0.43 77 1010.6
8 284 0.0 *okk — 0.95 75 1011.0
9 282 0.0 kK — 0.92 78 1010.9
10 28.6 0.0 *okk — 0.98 76 1010.7
11 287 0.0 Fokk — 1.00 75 1010.0
12 28.6 0.0 kK — 1.00 74 1009.2
13 28.8 0.0 *okk — 1.00 72 1008.3
14 28.7 0.0 *okok — 1.00 72 1007.6
15 28.8 0.0 *okk — 1.00 72 1007.4
16 28.6 0.0 KoKk — 1.00 72 1007.6
17 284 0.0 *okk — 1.00 76 1008.0
18 282 0.0 Fokk — 017 77 10085
19 281 0.0 k% — 0.00 78 1008.9
20 281 0.0 *okk — 0.00 80 1009.3
21 28.1 0.0 *okk — 0.00 79 1009.4
) 281 0.0 *okk — 0.00 78 1009.2
23 28.0 0.0 Fokk — 0.00 77 1009.0
24 27.9 0.0 kK — 0.00 76 1008.4
HE&X 2838 0.0 0.0 81 1011.0
B/ 27.7 0.0 0.0 72 1007.4
BEESS 282 — 77 1009.2
=X 0.0 10.45
BT —4 45 (S ok
£EFHH °C £EFEHH °C
2=4<:2 [ HI365 36.1 2ESE [ H20217 17.7
$EFAH hPa £EFEHH hPa
==<F [ H5322 10245 SESE [H1411.24 936.7
EEEH =] mm/day Eﬁﬁﬁ =] m.”'s
EXHF= H10.11.26 2125 2xEE [ H1792 552

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .




H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

HM4E10A248 N .
Bl ] M= EG JERES H BERF R TBE <t
B °C mm 1651 m.”'s h % hPa
1 27.8 0.0 *okk — 0.00 77 1008.0
2 278 0.0 sokok — 0.00 80 1007.5
3 27.7 0.0 *okk — 0.00 80 1007.0
4 278 0.0 *okk — 0.00 80 10071
5 274 0.0 *okk — 0.00 84 1007.3
6 27.7 0.0 Fokk — 0.00 81 1007.9
7 28.3 0.0 kK — 0.63 78 10085 |
8 285 0.0 *okk — 1.00 78 1009.1
9 28.6 0.0 kK — 0.98 77 10095 |
10 28.6 0.0 *okk — 1.00 80 1009.4
11 287 0.0 Fokk — 1.00 77 1008.9
12 284 0.0 kK — 1.00 80 1008.0
13 28.9 0.0 *okk — 1.00 76 1007.3
14 29.2 0.0 *okok — 1.00 73 1007.0
15 295 0.0 *okk — 1.00 74 1007.0
16 295 0.0 *okk — 1.00 74 1007.2
17 29.0 0.0 *okk — 1.00 77 1007.7
18 28.8 0.0 Fokk — 0.05 79 10081
19 28.7 0.0 kK — 0.00 78 1008.4
20 28.8 0.0 *okk — 0.00 77 1008.8
21 28.7 0.0 *okk — 0.00 79 1008.9
) 28.6 0.0 *okk — 0.00 78 1008.8
23 285 0.0 Fokk — 0.00 79 1008.8
24 28.2 0.0 kK — 0.00 82 1008.6
HE&X 295 0.0 0.0 84 1009.5
—B&/D 274 0.0 0.0 73 1007.0
HEH 285 — 78 10081
At 0.0 10.66
BT —4 45 (S ok
£EFHH °C £EFEHH °C
2=4<:2 [ HI365 36.1 2ESE [ H20217 17.7
$EFAH hPa £EFEHH hPa
==<F [ H5322 10245 SESE [H1411.24 936.7
EEEH =] mm/day Eﬁﬁﬁ =] m.”'s
EXHF= H10.11.26 2125 2xEE [ H1792 552

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

£F4E10A258 ) _
Bl ] M= EG JERES H BERF R TBE <t
B °C mm 1651 m.”'s h % hPa
1 28.3 0.0 *okk — 0.00 79 1008.2
2 28.2 0.0 *okok — 0.00 79 1007.8
3 28.2 0.0 *okk — 0.00 81 1007.7
4 28.2 0.0 *okk — 0.00 81 1007.8
5 28.2 0.0 *okk — 0.00 79 10081
6 271 0.0 Fokk — 0.00 85 1008.9
7 28.2 0.0 kK — 0.22 80 1009.7 |
8 295 0.0 *okk — 0.88 77 1010.3
9 292 0.0 kK — 1.00 79 1010.3
10 28.7 0.0 *okk — 0.98 80 1010.1
11 29.0 0.0 Fokk — 0.88 80 1009.9
12 28.7 0.0 kK — 1.00 78 1009.0
13 29.0 0.0 *okk — 1.00 76 10085
14 28.9 0.0 kK — 0.92 76 10085 |
15 281 0.0 *okk — 0.82 81 1008.2
16 27.9 0.0 *okk — 0.72 80 10081
17 27.8 0.0 *okk — 0.82 79 1008.2
18 27.9 0.0 Fokk — 0.00 82 1008.7
19 280 0.0 k% — 0.00 84 1009.2
20 28.2 0.0 *okk — 0.00 81 1009.4
21 28.2 0.0 *okk — 0.00 81 1009.7 |
) 28.2 0.0 *okk — 0.00 79 1009.8
23 272 0.0 Fokk — 0.00 84 1009.6
24 27.2 0.0 kK — 0.00 87 1009.4
HE&X 295 0.0 0.0 87 1010.3
A&/ 271 0.0 0.0 76 1007.7
BEESS 283 — 80 1009.0
=ar 0.0 9.24
BT —4 45 (S ok
£EFHH °C £EFEHH °C
2=4<:2 [ HI365 36.1 2ESE [ H20217 17.7
$EFAH hPa £EFEHH hPa
==<F [ H5322 10245 SESE [H1411.24 936.7
FRe% A H] mm/day ERmEAH] m/s
EXHF= H10.11.26 2125 2xEE [ H1792 552

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

£F44E10A268 ) _
Bl ] M= EG JERES H BERF R TBE <t
B °C mm 1651 m.”'s h % hPa
1 26.6 0.0 *okk — 0.00 85 1009.0
2 271 0.0 *okok — 0.00 85 1008.3
3 27.2 0.0 *okk — 0.00 86 1008.3
4 27.0 0.0 *okk — 0.00 86 1007.9
5 271 0.0 *okk — 0.00 83 1008.6
6 26.9 0.0 Fokk — 0.00 84 1009.4
7 26.8 0.0 kK — 0.00 86 1009.8
8 271 0.0 *okk — 0.48 82 1009.8
9 27.2 0.0 *okok — 0.92 83 1010.3
10 27.2 0.0 *okk — 1.00 85 1010.1
11 26.8 0.0 Fokk — 1.00 84 1009.4
12 271 0.0 kK — 1.00 83 1008.8
13 278 0.0 *okk — 0.72 81 1008.3
14 278 0.0 *okok — 1.00 78 1007.8
15 27.8 0.0 *okk — 0.53 78 1007.7
16 278 0.0 *okk — 0.38 79 1008.3
17 27.6 0.0 *okk — 0.00 79 1008.2
18 26.8 0.0 Fokk — 0.00 87 1008.4
19 27.8 0.0 kK — 0.00 81 1008.9
20 244 05 *okk — 0.00 92 1009.8
21 26.9 16.5 *okk — 0.00 90 1009.7 |
) 27.6 05 *okk — 0.00 85 1009.3
23 27.9 05 Fokk — 0.00 80 1009.4
24 28.0 0.0 kK — 0.00 79 1009.1
HE&X 28.0 16.5 0.0 92 1010.3
A&/ 24.4 0.0 0.0 78 1007.7
BEESS 272 — 83 1008.9
=X 18.0 7.03
BT —4 45 (S ok
£EFHH °C £EFEHH °C
2=4<:2 [ HI365 36.1 2ESE [ H20217 17.7
$EFAH hPa £EFEHH hPa
==<F [ H5322 10245 SESE [H1411.24 936.7
EEEH =] mm/day Eﬁﬁﬁ =] m.”'s
EXHF= H10.11.26 2125 2xEE [ H1792 552

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

£F4E10827H ) _
Bl ] M= EG JERES H BERF R TBE <t
B °C mm 1651 m.”'s h % hPa
1 275 0.0 *okk — 0.00 85 10085
2 27.2 15 *okok — 0.00 85 1007.9
3 25.3 05 *okk — 0.00 93 1007.6
4 283 2.0 kK — 0.00 78 1007.7
5 27.7 0.0 *okk — 0.00 86 1007.6
6 27.7 0.0 Fokk — 0.00 87 1007.9
7 26.3 55 kK — 0.00 86 1008.8
8 27.7 0.0 *okk — 0.00 84 1008.6
9 27.9 0.0 kK — 0.00 81 10095 |
10 28.3 0.0 *okk — 0.00 81 1009.5
11 28.0 0.0 Fokk — 0.00 83 1009.2
12 27.6 0.0 kK — 0.00 84 1009.4
13 274 05 *okk — 0.00 84 1008.9
14 24.6 105 sokok — 0.00 96 1009.0
15 26.7 25 *okk — 0.00 86 1008.4
16 275 0.0 kK — 0.00 84 10075
17 27.6 0.0 *okk — 0.00 85 10081
18 278 0.0 Fokk — 0.00 82 1008.6
19 27.8 0.0 kK — 0.00 83 1008.8
20 28.0 0.0 *okk — 0.00 83 1009.4
21 281 0.0 kK — 0.00 86 1009.8
) 28.3 0.0 *okk — 0.00 81 1009.9
23 274 0.0 Fokk — 0.00 86 1009.9
24 28.0 05 kK — 0.00 88 1009.6
HE&X 28.3 10.5 0.0 96 1009.9
—B&/D 246 0.0 0.0 78 1007.5
=EZS] 274 — 85 1008.8
8t 235 0.00
BT —4 45 (S ok
£EFHH °C £EFEHH °C
2=4<:2 [ HI365 36.1 2ESE [ H20217 17.7
$EFAH hPa £EFEHH hPa
==<F [ H5322 10245 SESE [H1411.24 936.7
EEEH =] mm/day Eﬁﬁﬁ =] m.”'s
EXHF= H10.11.26 2125 2xEE [ H1792 552

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

£FI44E10H288 _ _
Bl ] M= EG JERES H BERF R TBE <t
B °C mm 1651 m.”'s h % hPa
1 275 0.0 *okk — 0.00 81 1009.1
2 276 0.0 sokok — 0.00 83 1009.0
3 28.2 0.0 *okk — 0.00 82 10085
4 282 0.0 kK — 0.00 81 10081
5 281 0.0 *okk — 0.00 82 1007.9
6 283 0.0 Fokk — 0.00 82 1008.8
7 284 0.0 kK — 0.08 81 1009.3
8 284 0.0 *okk — 0.37 83 1009.6
9 284 0.0 kK — 0.95 81 1010.0
10 28.7 0.0 *okk — 1.00 79 1009.9
11 28.6 0.0 Fokk — 1.00 81 1009.3
12 28.7 0.0 kK — 1.00 78 1008.2
13 28.8 0.0 *okk — 1.00 78 1007.8
14 28.7 0.0 *okok — 1.00 80 1007.5
15 28.7 0.0 *okk — 1.00 80 10075
16 288 0.0 kK — 1.00 79 10075
17 28.3 0.0 *okk — 0.70 83 10081
18 28.6 0.0 Fokk — 0.00 79 10085
19 28.6 0.0 kK — 0.00 81 1009.2
20 28.3 0.0 *okk — 0.00 84 1009.6
21 28.4 0.0 *okk — 0.00 79 1009.7 |
) 284 0.0 *okk — 0.00 78 1009.8
23 285 0.0 Fokk — 0.00 76 1009.8
24 28.3 0.0 kK — 0.00 78 1009.3
HE&X 2838 0.0 0.0 84 1010.0
Bz 275 0.0 0.0 76 10075
=EZS] 284 — 80 1008.8
=X 0.0 9.10
BT —4 5 5 {5 Hoxk
£EFHH °C £EFEHH °C
2=4<:2 [ HI365 36.1 2ESE [ H20217 17.7
$EFAH hPa £EFEHH hPa
==<F [ H5322 10245 SESE [H1411.24 936.7
EEEH =] mm/day Eﬁﬁﬁ =] m.”'s
EXHF= H10.11.26 2125 2xEE [ H1792 552

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

£F4E10A208 ) _
Bl ] M= EG JERES H BERF R TBE <t
B °C mm 1651 m.”'s h % hPa
1 284 0.0 *okk — 0.00 78 1008.9
2 28.4 0.0 kK — 0.00 77 10085 |
3 28.2 0.0 *okk — 0.00 80 1008.6
4 28.1 0.0 *okk — 0.00 78 10085 |
5 27.6 0.0 *okk — 0.00 86 10085
6 28.0 0.0 Fokk — 0.00 82 1009.1
7 28.3 0.0 kK — 0.00 81 1009.7 |
8 28.3 0.0 *okk — 0.72 82 1010.3
9 28.7 0.0 kK — 1.00 79 10105 |
10 285 0.0 *okk — 0.97 79 1010.4
11 285 0.0 Fokk — 1.00 81 1009.8
12 28.8 0.0 kK — 1.00 79 1009.2
13 28.7 0.0 *okk — 1.00 79 10085
14 288 0.0 kK — 1.00 76 1008.2
15 28.8 0.0 *okk — 1.00 77 1007.8
16 28.7 0.0 kK — 1.00 75 1008.0
17 285 0.0 *okk — 0.93 79 1008.2
18 285 0.0 Fokk — 0.00 79 1008.7
19 285 0.0 kK — 0.00 79 1009.3
20 28.3 0.0 *okk — 0.00 83 1009.6
21 283 0.0 kK — 0.00 81 1009.6
) 27.7 0.0 *okk — 0.00 83 1009.5
23 27.9 0.0 Fokk — 0.00 84 1009.4
24 28.3 0.0 kK — 0.00 82 1009.0
HE&X 2838 0.0 0.0 86 1010.5
—B&/D 27.6 0.0 0.0 75 1007.8
=EZS] 284 — 80 1009.1
=X 0.0 9.62
BERNT—%
£EFHH °C £EFEHH °C
2=4<:2 [ HI365 36.1 2ESE [ H20217 17.7
$EFAH hPa £EFEHH hPa
==<F [ H5322 10245 SESE [H1411.24 936.7
EEEH =] mm/day Eﬁﬁﬁ =] m.”'s
EXHF= H10.11.26 2125 2xEE [ H1792 552

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

£F44£108308 ) _
Bl ] M= EG JERES H BERF R TBE <t
B °C mm 1651 m.”'s h % hPa
1 28.2 0.0 *okk — 0.00 81 1008.3
2 283 0.0 kK — 0.00 80 1007.7
3 281 0.0 *okk — 0.00 80 1007.8
4 28.1 0.0 *okk — 0.00 83 1007.6
5 26.6 05 *okk — 0.00 81 1007.9
6 278 0.0 Fokk — 0.00 81 1008.2
7 28.0 0.0 kK — 0.18 82 1008.7 |
8 28.0 0.0 *okk — 0.70 84 1009.0
9 26.3 05 kK — 0.42 89 10095 |
10 28.3 05 *okk — 0.62 82 1009.3
11 278 0.0 Fokk — 1.00 80 1008.9
12 28.2 0.0 kK — 1.00 80 10085 |
13 29.0 0.0 *okk — 1.00 77 1008.0
14 28.8 0.0 *okok — 0.87 73 1007.6
15 294 0.0 *okk — 0.93 71 1007.8
16 27.9 55 kK — 0.75 83 1008.0
17 28.7 0.0 *okk — 0.68 76 1008.3
18 285 0.0 Fokk — 0.00 79 1008.7
19 28.3 0.0 kK — 0.00 82 1009.2
20 271 0.0 *okk — 0.00 83 1009.4
21 276 0.0 sokok — 0.00 83 1009.6
) 27.9 0.0 *okk — 0.00 85 1009.4
23 27.9 0.0 Fokk — 0.00 83 1009.3
24 28.1 0.0 kK — 0.00 82 1009.2
HE&X 29.4 55 0.0 89 1009.6
—B&/D 26.3 0.0 0.0 71 1007.6
=EZS] 28.0 — 81 1008.6
8t 7.0 8.15
BT —4 45 (S ok
£EFHH °C £EFEHH °C
2=4<:2 [ HI365 36.1 2ESE [ H20217 17.7
$EFAH hPa £EFEHH hPa
==<F [ H5322 10245 SESE [H1411.24 936.7
EEEH =] mm/day Eﬁﬁﬁ =] m.”'s
EXHF= H10.11.26 2125 2xEE [ H1792 552

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

£F4E10A31H ) _
Bl ] M= EG JERES H BERF R TBE <t
B °C mm 1651 m.”'s h % hPa
1 281 0.0 k% — 0.00 80 1008.9
2 280 0.0 kK — 0.00 83 1008.6
3 279 0.0 k% — 0.00 85 1008.6
4 28.0 0.0 kK — 0.00 81 1008.7 |
5 275 0.0 Fokk — 0.00 81 1009.0
6 27.9 0.0 Fokk — 0.00 83 10095
7 28.3 0.0 kK — 0.17 82 1010.1
8 281 0.0 k% — 0.43 81 1010.6
9 29.1 0.0 kK — 0.95 77 1010.8
10 280 0.0 k% — 0.62 80 1010.4
11 28.6 0.0 Fokk — 0.82 80 10095
12 283 0.0 kK — 1.00 83 1008.8
13 290 0.0 k% — 1.00 73 1008.0
14 292 0.0 kK — 0.98 69 1007.7
15 288 0.0 k% — 0.95 69 1007.6
16 285 0.0 kK — 0.85 77 1007.9
17 287 0.0 Fokk — 0.32 75 10085
18 285 0.0 Fokk — 0.00 77 1009.0
19 28.6 0.0 kK — 0.00 74 1009.7 |
20 286 0.0 k% — 0.00 72 1010.1
21 283 0.0 kK — 0.00 79 1010.3
70 284 0.0 k% — 0.00 77 10105
23 283 0.0 Fokk — 0.00 78 10102
24 28.3 0.0 kK — 0.00 77 1010.0
HE&X 29.2 0.0 0.0 85 1010.8
Bz 275 0.0 0.0 69 1007.6
HEH 284 — 78 1009.3
At 0.0 8.09
BT —4 45 (S ok
£EFHH °C £EFEHH °C
2=4<:2 [ HI365 36.1 2ESE [ H20217 17.7
$EFAH hPa £EFEHH hPa
==<F [ H5322 10245 SESE [H1411.24 936.7
EEEH =] mm/day Eﬁﬁﬁ =] m.”'s
EXHF= H10.11.26 2125 2xEE [ H1792 552

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



